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Jakotaulut
5 poytaa, 10 paria. Jakomaard: 14. Keski: 56.
Sija Pari Pisteet $  Nimi Kerho

1 7 70 62,5 REIJO HAARTOLA - LASSE SALORANTA Salon Bk

2 4 68 60,7 MATTI ALANKO - TIMO ALANKO Salon Bk

3 8 66 58,9 JORMA VALIMAKI - RISTO NOKI Salon Bk

4 3 62 55,4 OUTI YRTTIRANTA - TERHI MANTYLA Salon Bk

5 9 57 50,9 LAURA ALOPAEUS - PETER SOINU Salon Bk

6 6 54 48,2 TAISTO LOUHIKOSKI - LEENA MAENPAA Salon Bk

7 2 53 47,3 MARKO MAKINEN - ANTTI VOITTO Salon Bk

8 10 52 46,4 OUTI SAKAJARVI - RAUNO TASALA Salon Bk

9 1 42 37,5 Pertti LEHTINEN - JAAKKO VIIMA Salon Bk

10 5 36 32,1 MATTI RINTALA - PEKKA MAENPAA Salon Bk
Jako 1 Jako: 2
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
4 2 3N E -4 Cl10 200 8 0 3 6 2N E -1 83 50 4 4
7 9 2S W = DA -110 6 2 4 2 3N E -1 S3 50 4 4
3 6 35S W = DA -140 2 6 7 9 3N E -1 52 50 4 4
8 1 1S W +2 H9 -140 2 6 8 1 2N E -1 S3 50 4 4
10 5 1S W +2 DA -140 2 6 10 5 2N E -1 S2 50 4 4
Jako 3 Jako 4
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
8 2 3N W -2 HJ 200 8 0 8 2 3N S +3 C5 690 8 0
9 1 1s E = H2 -80 53 9 1 3N S +2 S5 660 6 2
10 6 1s E = H2 -80 53 4 7 2N S +2 S9 180 4 4
5 3 2D E = C7 -90 2 6 5 3 1IN S +2 S6 150 17
4 7 1s E +1 H2 -110 0 8 10 6 2D N +3 SJ 150 17
Jako 5 Jako 6
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
5 1 4H E +1 D2 -450 8 0 2 9 5C S -3 HA -150 8 0
2 9 4H W +2 C2 -480 6 2 8 3 2S E +2 HQ -170 6 2
6 4 4H W +3 S4 -510 35 5 1 35S W +2 H2 -200 4 4
10 7 4H E +3 C2 -510 35 6 4 45 E = H4 -620 26
8 3 6H W = D9 -980 0 8 10 7 5Cx S -5 HK -1100 0 8
Jako 7 Jako: 8
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
7 5 1IN S +3 H7 180 8 0 6 2 4S5 S =CJ 420 71
10 1 2N S = D8 120 6 2 7 5 45 s =CJ 420 71
8 4 2H S =CJ 110 35 9 3 35 S +1 HA 170 4 4
9 3 25 N =C6 110 35 10 1 2S S +1 C9 140 26
6 2 4H S -2 CJ -200 0 8 8 4 4D W +1 SK -150 0 8
Jako: 9 Jako: 10
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
8 5 3H W -2 S5 200 8 0 8 5 2N N = H7 120 8 0
2 10 2S N +1 H2 140 4 4 1 6 1S S +1 c4 110 4 4
4 9 1S N +2 H10 140 4 4 2 10 25 S = D6 110 4 4
7 3 3S N = H10 140 4 4 4 9 1s s +1 D10 110 4 4
1 6 35S N -1 D9 -50 0 8 7 3 2N N -2 H7 -200 0 8
Jako: 11 Jako: 12
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
2 7 3N W -1 H2 50 8 0 8 6 2H S -1 sSA -100 71
10 3 2D W +1 C4 -110 6 2 10 3 2D N -1 SA -100 71
8 6 1IN E +1 H7 -120 4 4 5 9 25 W = D10 -110 4 4
1 4 4C E = H3 -130 2 6 1 4 2N E +1 H2 -150 2 6
5 9 3N E = D2 -400 0 8 2 7 2N E +2 D9 -180 0 8
Jako: 13 Jako: 14
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
4 10 3N E = S2 -600 8 0 8 7 3N W -4 HA 200 8 0
2 5 4H E = DA -620 6 2 3 1 4D E -3 SK 150 6 2



3 1 3N
6 9 3N
8 7 3N

E +1 S3
E +1 S6
E +2 SA

1

5
9
0

2S N = H10
4S5 N -2 D2
4Sx S -2 D9

110

-100
-300

O N

Jakotaulut



